Efficiency vs P,

F 0.2
o
€0.18
>
20.16
@
(&)
20.14
[J]
0.12
0.1
0.08
0.06
0.04
0.02

..............................

..............................

..............................

.............................

1

[—— DQM _XIMInus_ofginar
—e— DOM_XiMinus_newbranch

—— DQM_XiMinus_original_pLess
—— DOM_XiMinus_newbranch_pLess

10

. Gedf’

= 02
2
20.18
2
50.16
o
£0.14
[}
0.12
0.1
0.08
0.06
0.04
0.02

....................

....................

....................

J_.\‘C_llllilllli

Ratio
N

Efficiency vs ¢

s 0.
g
20.09
2
_90.08
(8]
£0.07
[J]
0.06]
0.05
0.04
0.03]
0.02
0.01

.

&

BN RN B R LR LN BN R RN LR

1.0

Ratio

0 S Sy




	Contents
	Page 1


